XYZ,,=98.07 , 100.0,, 118.22
A=25a-8)Y
258, (b-by) Y

94Y, Parameter:
004 B vgName
Lichtart COO

Y,,=100 Y,=0

55G,
0= 1, by =04 - 3R,
X, = 0,000, B? = 1,000
Cg=lA+ER2
6 OslwaIdFarben (o) A
von (m)Cygim | C0§> t +
Buntwertdiagramm (A, B) ~ ~100 100
Lichtart C00, Y, 100 V =0
Name Bereich X, V.
R, 567_775 6125 39,34 o8 “bsorossie &Cw 1
V¥ 4520775 78.47 9403 7.5 04367 05233571 463 45M,

G, 492567 17.41 54.88 7.1 02192 0,6912535 535
C, 380_567 370 60.85 11817 0.1713 0.2816 487 596
B, 380_492 1979 616 1113 0.1442 0,049 463 571
M, 567_492 80,85 45.31 111.35 0.3404 0.1907 535c535
W, 380_775 98.07 100.0 118.220.31 03161 100%
N, 380775009 01 011 03099 0316 0%
7,380 7751765 180 2128 031 03161 18%
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